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Unit 3: Earth's Atmosphere, Weather, and Climate
Vocabulary

Check the box to show whether each statement is true or false.
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	1.
Radiation is a measure of the average movement and energy of the particles in an object.

	(
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	2.
A jet stream is a violently rotating column of air stretching from a cloud to the ground.
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	3.
The stratosphere is the top layer of Earth’s atmosphere.
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	4.
Weather is the characteristic pattern of temperature, humidity, and precipitation in an area over a long period of time.

	(
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	5.
The curving of the path of a moving object as a result of Earth’s rotation is called the Coriolis effect.


Key Concepts

Read each question below, and circle the best answer.

6.
The picture below shows all three methods of energy transfer.
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Which of these correctly identifies the three methods of energy transfer?

A.
1: convection  2: radiation 3: conduction
B.
1: radiation 2: conduction 3: convection
C.
1: conduction 2: convection 3: radiation
D.
1: radiation 2: convection 3: conduction
7.
If it rained all day but stopped and then cooled down considerably at night, what weather phenomenon would you likely observe that night?
A.
fog
C.
sleet
B.
hail
D.
thunder
8.
What results when air surrounding a bolt of lightning experiences a rapid increase in temperature and pressure?
A.
A tornado forms.
B.
Hail forms.
C.
Thunder is created.
D.
Rain condenses.
9.
Refer to the diagram of winds and currents below to answer the question.
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Which of the following best explains the curvature of the arrows for the westerlies and the trade winds?

A.
The ocean currents create winds flowing in a similar direction to the current.
B.
The Coriolis effect causes the winds to curve that way because the Earth rotates from left to right.
C.
The Coriolis effect causes the winds to curve that way because the Earth rotates from right to left.
D.
The sun is shining and warming the air from the right side of this diagram.
10.
An astronomer studying planets outside our solar system has analyzed the atmospheres of four planets. Which of these planets’ atmospheres would be most able to support a colony of humans?
A.
Planet A: 76% Nitrogen, 23% Oxygen, 1% Other
B.
Planet B: 82% Nitrogen, 11% Oxygen, 7% Other
C.
Planet C: 78% Nitrogen, 1% Oxygen, 21% Other
D.
Planet D: 27% Nitrogen, 3% Oxygen, 70% Other
11.
Refer to the picture below to answer the question.
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Which of the following is most responsible for the moving bands of air around Earth that are shown in the picture above?
A.
conduction
C.
Coriolis effect
B.
convection
D.
greenhouse effect
12.

Which of the following describes the general pattern of winds near the equator?
A.
Winds are generally weak because the equator is a region where low and high air pressure atmospheric bands come together.
B.
Winds are generally strong because the equator is a region where low and high air pressure atmospheric bands come together.
C.
Winds are generally strong because the equator is a region of mostly high air pressure.
D.
Winds are generally weak because the equator is a region of mostly low air pressure.

13.
Which of these is not a currently predicted effect of global climate change?
A.
rising sea levels

B.
increased precipitation everywhere on the globe

C.
reduction in Arctic sea ice

D.
more severe storms
14.
The graph below shows the amount of carbon dioxide measured in the atmosphere between 
about 1960 and 2005.
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What conclusion can you make from the data displayed in the graph?

A.
The amount of carbon dioxide in the atmosphere more than doubled between 1960 and 2000.

B.
An increasing number of cars on the road between 1960 and 2000 caused an increase in carbon dioxide levels in the atmosphere.

C.
There was an overall increase in the level of carbon dioxide in the atmosphere between 1960 and 2000.

D.
Average global temperatures increased between 1960 and 2000 as a result of the increase in carbon dioxide in the atmosphere.

Critical Thin
king

Answer the following questions in the space provided.
15.
Suppose you were a superhero that could fly up through the atmosphere while feeling the temperature and air pressure change around you. Describe your trip in a paragraph, naming the four main atmospheric layers and telling how the temperature and air pressure change as you pass through each.
16.
Explain two ways in which forecasters collect weather data.
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